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Work and Energy

( 6-1)

18
(energy)

[ 6-2(a)]
[ 6-2(b)]

(work)
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Fy W=F;s
F,=Fcosa

W=Fscosa

a =90° W=0

6)

W=Fs

a 90°

( 6-5)

90° W

( 6-4)

( 13
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400
P
(kw)
1

15

1.5
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=3.6x 103 s=54
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3 10 2.7x 103

4 30 3 10 /
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(kinetic
energy)
( 6-8)
m
\ f
S f=ma
V2
vZ = 2as s=— f s W =fs
2a
||
}mvz
2
%mv2 E,
E, P
2
||

6-9



4) ( 6-10)

( 6-11)
(
|
17
mv?
1829
mv2 “ ” (FS)
*
|
m
S ve( 6-12)

12)
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:%mﬁ-%m%

1686

F=ma
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1.5
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7

3 m=2 V=0 s=3

1mv§)=0
2
1 2
Emvt:W=Fs:3><3 =9
2x 9
vV, = /
t ‘\ 2
=3 /
/
Vo 2V, 2V, 3V,
173 7.2
1840 8.0x 10% /
0.5 2 / 2
0.1
1.6
10 500 7/ 2

300 7/
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G=mg
W mgh

E,=mgh
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E,=mgh
h=0
E,=0
*
h, h,(  6-15)
mgh, -mgh,=mg(h;-h,)
We=mg(hy-h,)
u

mgh,=mg(h,-h,)
We=mg(hy-hy)
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( 6-17)

3)
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2.5

500

2)

(potential energy)

25

( 6-18)
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0 B
0 C C 0 B B
0
( O h=0
0 B
C 0
( 6-20)
m h
h Ep1=mgh Ex1=0
1
E,=0 E,, ==mv?
2
2 1 2
ot V2 = Zgh,Emv =mgh
h E;=Epi+E
E,=EpotEks
E,=E,
1 1
mg(h, - h,) Emvg -Emvl2

vi - 2g(h- hy),
v2 =2g(h- h,),
Vg - V12 = Zg(hl - hz)y

1 1
mg(h, - h,) = Emvg - Emvf



mgh, +% mv? = mgh, + % mv3

1]
10
m E,1=mgh
v E,=0 E., =%mv2
1 2
—mv* = mgh,
5 g

v=.2gh=.2x 98x 10 / =14 |
14 /

2]
14 7/

v=14 / h=0 h,=6 ¢=9.8 / 2
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6 8.9 /

%mvf +mgh, =%mv§ +mgh,
h, = _i = (14)2
? 29 2x98

10

<
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89

/

v,;=14 /
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[ 6-26(b)]
[ |
( 1)
( 6-27)
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PeriodicMotion
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(period)
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